FE HEREM ZEER ZEE
SHTEE 1,316 1,316]  100%
_ fnes = SHI2FEE 1,388 1,388  100%
REMBREN  hsER 1473] 1.473]  100%
SHAEE 1,388 1,388  100%
SHSFEE 1,396 1,396  100%
o i ERIE]E £2[EH
i *E Nezn(sveusvE|nsEn|spEn(E0E
SHTEE 46 46| 100% 41 41| 100%
SHM2EE 44 44 100% 43 43[  100%
AAaRIREZY SHSFEE 46 46| 100% 48 48|  100%
SMAEE 46 46  100% 42 42 100%
SHSEE 45 45 100% 50 50  100%
SHTEE 23 23] 100% 25 25| 100%
SHI2EE 22 22[  100% 24 24 100%
BELCEMERESZY | SHSEE 30 30[ 100% 33 33  100%
SHAEE 38 38 100% 33 33|  100%
SHISEE 34 34|  100% 32 32|  100%
SHTEE 3 3]  100% 6 6] 100%
SHI2EE 6 6| 100% 6 6| 100%
SRfREEROW SHSEE 7 7| 100% 7 7| 100%
SHAEE 7 7 100% 6 6| 100%
SHSEE 5 5/  100% 5 5|  100%
SHTEE 276 276  100% 190 190  100%
SH2FEE 290 290|  100% 290 290|  100%
B NATR R SHISERE 342 342 100% 288 288  100%
SHAEE 363 363 100% 304 304|  100%
SHISEE 372 372  100% 306 306] 100%
SHTFE 512 512  100%
SH2FEE 530 530[ 100%
FRREBNHEEREDE | SHSEE 518 518  100%
SHAEE 51 51 100 461 461  100%
SHSEE 42 42 100 466 466 100%




